%

is being

A4
N
)
-
P

2
his
arybdis?

DE

?

ﬁ/ﬂwﬁw
sy

A e

i

hink

e

,z%
W
S,

-

g ides
ourney (6-7). Why

NG QU

they obeyed him
Doyout

et N o ——e
88 oy - >
i 9 - o I

B

f

-896)

fully navigated Scylla and Ch

1

A ;
5a8 ,
s o
(@] wﬁ%x oo gy g
N < g &
i e (W] e 5
a2 ec < - &
V// ap L3 aéﬂﬂwm m 3
oy © Fgu? o] St . s
D " o p— o - m O
O @ b P P Q) L E m R
D I35 Bt 2 < 3 o
E o 0 LW R W m e -
X 5 =L = ap Sed

?

s T

ggest about sea journeys in Homer's t

3 "

ryin

RS
se

's ship has success

I

e
3

@

O

&

o] ) %

w & Loy -t - %Mf?a% e u
H m N o " 2
Lo} ) 2] jou} ~,
S e Py e e D g O

- m Lo am?zgé N s - n ¥ ~
2 , 3o o - 8 e S mw —
& & % W L ko) ] O .
By i = ih o o >~
w e ¥ w.wJ 0 - oy

e e e ol ki
£y % B 0 2 o
10} = + Q- ] o £

) - e
5 e .m s &y wﬁu .

af jos =
’ ©

nOu S
et o
g © T e “ ) B e
- & . e b )

. MV P u soosasa

a [¥s) ﬁ%W — Mﬁé o
R » } £
Q O o 2
o> s
K e J -
{

NOTEBOOK <HELK #¢4

ght Odyss

s

dangerous combination

LE- What potent

RS

) <2

T

5. LE- The men are in conflict with both Scylla and Charybdis. Why are the two a particularly

B
L. BI- Assess how Odysseus’s men must be

i
7. BI- What does this passage (1

4.
3.

AME
PART TWO



?

air dead companions

o

I
8

g

mournin,

1 do befors

s
3

koH]

=]

ol
O
2
And
]
k]
4od
o
=

L T

AY

9

sy

—

ot

ct?

'nﬂi

ninco

s

wf%?w,

s

lines 218-233%

hy not?

N

Ry
v

ict?

urylochus

38)2 Why or

i)
[
=
o
[
Q
o o
[
4 =1 m
e o
b e e f%&% -
: == : 3
5 S () m 0
© R sl &
o el E,Mw s P R
O b et [~ Y o 2
ol ety P g
3 T o =
= oL ) g
. =
3 = N 3
mw. m a3 0
0n 2 . g S
5 e = 9
o -1
o] e ..hb Awézém - ﬁ%,V?é%% %w
. — Juar] o e
%,,sﬂ&%w fo 7 A Wd.
B N b pe
|85 L
. O
[ e

gin?

ive be

liﬁg his story to the Phaeacians. When did this narrat

Odysseus has been tel

4. RS-

1




